Ordinance No. 16 for 1965 Ordinance 477

avenue, ames Creek Road Roush to
The property of the state of th
Wallians, who City Community has haret since, on July 13, 1965 by Resolutio No. 38 for 1965, directed the important of a direct, place, and written reports at portions of and proposes stut expression, and
WHERMAS, the Constant of percept and one idea to an operation of the proposed source of parent by the life of Journal of the and of the required containing engineering of the first of Journal of the and our maked associations against a report y and on a percept of the containing of
WHEREAS, on July 13, 1965 by Frankelson For 39 for 1965 ton Commodit allo about a some of Visuars for the purpose of investigening same surveys, plais, and were property, and same filled rear reports with the Carry for preserve an July 14, 1965 and
WHEREAS, not used of said reports as filled were the testion given in Autoromitis with Ordinated No. Till as emanded, sixt public hoppings were held in July 27,
WPEREAS, the Opensil, being fucily acressed increase. Finds to is just and resoundling in the best formation of a locality of Suse hims to desirally each place. Improvement:

Engineer's Estimate Street Improvement District No. 22nd Avenue - Ames Greek Road south to city limits line

PAVILLE AND BASING

- Poster	Eight (8) inches rock of 3° - 0° compacted base rock in place (truck measure) 1281.00 cm. yds. 8 \$2.05 per cm. yd.	\$ 2,626.05
2.	Finish rock 193.57 cu. yds. @ \$3.50 per cu. yd.	677. 50
3.	Two and one-half (2%) inches of compacted asphaltic concrete 514.11 ton @ \$0.00 per ton	4,112.66
	TOTAL PAVING AND BASING	\$ 7,416.43
	15% engineering and edwinistrative	1,124,64
		\$ 8,541.07
	10% coné.	854.71
	TOTAL	\$ 9,395.18

Assessment for 2601.17 foot frontage # \$3.612 per front foot

EXCLUATION

l. Excavation as required 1454-24 cu. yds. 0 \$1.50 per cu. yd.		\$ 2,181. 00
10% cont.		218.10
	TOTAT.	\$ 2,390,70

NOTH: City cost of Ames Greek bridge widening; drain tile replacement across "E" Street at 22nd; concrete removal and replacement at corners 22nd and "E" Streets, to be estimated at labor date.

Sweet HOME VENEER, INC. Tax lot 100, Assessor's Map #31E32CG 390 foot frontate @ \$3.612	\$ 1,408.68
WHITTORE, JAMES L AND WILMA G. Tax lot 500, Map #131E32CC 418 foot frontage @ \$3.612	1,509.82
SWEET HOME VENEER, INC. Tax lot 100, Map #131E32CC 100 foot frontage	36120
SMITH, GORDON L. AND LYLA Tax lot 700, Map #131B32CC 104 foot frontage @ \$3.612	375.65
ORR, WILLIAM J. AND ANNA P. Tax lot 800, Map #131E32CC 68 foot frontage @ \$3.612	245.6 2
BAKER, ELIZABETH Tax lot 1000, Map 131E3200 185 foot frontage @ \$3.612	668,22
MILLER, LOREN Tax lot 1100, Map #13183200 195 foot frontage @ \$3.612	704.34
RIPLEY, MYRON Tax lot 1900, Map #131E32CC 95 foot frontage @ \$3.612	343.1 4 .
BONNELL, LECLA Tax lot 2000, Map #131E32CC 180 foot frontage @ \$9.612	650.16
ZASTROW, MABEL Tax lot 2201, Map #131E3200 208 foot frontage @ \$3.612	751.30
BUTLER, GRACE P. Tax lot 2100, Map #131E32CC 135 foot frontage @ \$3.612	£87.62
ROLFE, FRED L. ROWE, LONNIS J. AND PEGGY. Agt. Tex lot 2200, Map #131E32CC	
230 foot frombage @ \$3.612	\$30.76
SPROED, JOSEPH J. Tax lot 2300, Map #131E3200 180 foot frontage @\$3.612	650.16
CITY OF SWEET HOME 90 foot frontage at E Street @ \$3.612 23.17 foot frontage on C Street @ \$3.612	325.08 83.69

Section 2. The assessments set out in said report are hereby declared to be just and proper assessments to the property abutting thereon and benefitted thereby,

Section 3. It is deemed necessary for the immediate preservation of the public peace, health, and safety of the inhabitants of the City of Sweet Home that this ordinance go into effect at once, and this ordinance shall be immediately effective and in full force upon its adoption by the Common Council and its approval by the Mayor.

PASSED BY THE COUNCIL and approved by the Mayor this 9 day of Mugust 1965

ATTEST: